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Teorie

tan2 t+ 1 =
1

cos2 t

Př́ıklady

Najděte primitivńı funkce na největš́ım možném intervalu:

1. (a) f(x) =
1

(x2 + 1)3

(b) f(x) =
x2 + 3x− 2

(x− 1)(x2 + x+ 1)2

(c) f(x) =
x2 + 1

(x4 + x2 + 1)2

(d) f(x) =
1

(x2 + x+ 1)2

(e) f(x) =
1

(x3 + 1)2

(f) f(x)−
3

16

1

(x2 + 1)2

(g) f(x) =
x9

(x10 + 2x5 + 2)2
.

2. (a) f(x) =
x

x8 − 1

(b) f(x) =
x3

x8 + 3

(c) f(x) =
x2 + x

x6 + 1

(d) f(x) =
x4 − 3

x(x8 + 3x4 + 2)

(e) f(x) =
x11

x8 + 3x4 + 2

(f) f(x) =
1

x(x10 + 2)
.

3. (a) f(x) =
x2n−1

xn + 1
, kde n ∈ N. (b) f(x) =

x3n−1

(x2n + 1)2
, kde n ∈ N.
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